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BHAIE =AM 2228 1,045,000 400,000 645,000
= 510,000
Al 535,000
401 AIEHI L 2CHYI 1,015,000 210,000 805,000
= 510,000
Al 505,000
01 AlZHI 995,000 210,000 785,000
Ocl2ad A 995,000
= 510,000
Al 485,000
02 Zeldl 20,000 0 20,000
Ocl2gd SAb el 20,000
405 At&tE =H| 30,000 121,000 A91,000
01 ML ESFHSH 30,000 121,000 291,000
Oclad =8 #¢ 30,000




SN BUDSD
HH: HH2IAH(BMDSY)
chel: ol gyl CEEEED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
HY2IZH (HBHLNSD) 138,582 129,267 9,315
eIy 2| 80,502 70,187 10,315
el 2| 80,502 70,187 10,315
101 1244l 80,502 70,187 10,315
03 RINAA=22RE > 80,502 70,187 10,315
O"Mstga 2l 224 B+ 37,203
=Jll=2=2(8583) 1,457,830& » 1€ » 12& 17,494
o= 1,457,830& = 18 * 400% 5,832
ocSExgelg 50,000& = 198 * 128 600
oXNATA+E 150,000& » 1& = 12& 1,800
ofgs+g 90,000& = 198 « 128 1,080
cdASAYI 120,000& = 1& = 12& 1,440
o JtH 2 & Hl 80,000% = 198 « 12& 960
cXPsd 110,000& » 1& = 12& 1,320
o HE S OtH| 1,457,830& = 18 * 120% 1,750
CCINRBEINSY 952008 * 1% « 18 1,714
oNAADR4EY
17,8503 = 18 = 15A12F = 128 3,213
OEHAAEH A2 22 22X E= 43,299
oJl2=(158=) 1,611,4108 » 19 « 128 19,337
oa0iz 1,611,410& = 18 * 400% 6,446
ocSExgeg 50,000& = 198 * 128 600
oXHTA+E 150,000& = 1& = 12& 1,800
ofgs+g 90,000& = 19 * 128 1,080
o Mg AHI 120,000& = 18 = 12& 1,440
o JtH 2 & H| 80,000% = 19 « 128 960
oXNRg 110,0008 18 « 123 1,320
octEdg 40,0008 = 18 » 123 480
o EF Il 1,611,410 = 1H = 120% 1,934
oclXtRSFIIH=E 102,960 » 18 « 182 1,854
oAN2LRAZESE
19,3002 » 18 = 15A12F = 123 3,474
oliMseEa+" 51,4808 ~ 18 » 504 2,574
R 58,080 59,080 A 1,000
Jl=23dHl 58,080 59,080 A 1,000
201 fEt2E | 51,680 51,680 0
01 Al 2+2/H 48,480 48,480 0
Oget=ZH| 28,800
cRN2I(2E) Jl=2
250,000& = 12& 3,000




M HYDSD
M HY2IAZH(BM WS
& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
cEN=g(BasE) J=30l
250,000& = 12& 3,000
RN (MBEAMZ) JI23H|
250,000& = 12& 3,000
CREMNBI(MAEHZTAMR) JI2dHl
250,000& = 123 3,000
o2H MREE TY(ZAX S)
150,000& * 12&8 1,800
cTMEISY ANREE FU(ZAX )
100,000& * 12&8 1,200
CANE TN AREE FL(SAX )
100,000& * 12& 1,200
OMAEHET MR AREBE R (SAX S)
100,000& * 12&8 1,200
oZ2H HIAMNRII AZE F¢
300,000& = 60 = 23l 3,600
S3-Fr HHMRII ARE 7Y
300,000& = 404 = 23| 2,400
SNPENZ BHARII| 42E 29
300,000& = 404 = 23| 2,400
OMASHENZ BHARII 22E 3
300,000& = 404 = 23| 2,400
czZd WIE LI gX=E 50,0008 » 12&8 600
O3gHI(2&) 8,000& » 108 72 » 12& 6,720
O=gH (Bdstsa)
8,000& = 5% 7 » 123 3,360
OB (AEEZ M)
8,000& = 5% « 10& ~ 123 4,800
OSSH (MHASTHZ)
8,000& = 5% =« 10& » 123 4,800
02 =24l 3,200 3,200 0
O3 (2%) 100,000& * 12& 1,200
OodgozH(2E) 400,000& = 53 2,000
202 4l 1,800 1,800 0
01 = LH YI 1,800 1,800 0
Odl &2 LH O4 Bl 1,800
203 R =& 3,600 3,600 0
04 A2 | 3,600 3,600 0
ORNE &l 300,000& * 123 3,600
405 THEHH S 1,000 2,000 A 1,000
01 Xt = 1,000 2,000 A 1,000
OAMRA dXd X P 1,000




